£348 V—)b- - D&400

Gosis@resens TOURDENOT000 1~ AE

S9B17HE®) /\-71-2 mmmm @%R—WETNKABP—EECPREBER (63.3km)
(32.3km) (31.0km)

S9H17H®) 1—X2 O R—FETKABEP—EECP &Eﬁ—ﬂ*‘ﬁﬁﬁ( P—>F’3EJUCP—>EP§ b RILFRIS Wﬁ—ﬁﬁ% (135.2km)
(32.3km) (31.0km) (20.0km) (27.4km) 9.6km 4.9m

®9H18HE) 1—X2 RS — K/ JHCP—=~ IH{AEP—& %CP&EQ—*“%?HdEPF%@P—w VUKCP—=HE- ll!%—ﬁﬂé (161.1km)
(39.9km) (20.4km) (19.3km) (16.5km) (35.7km) (14.1km) (15.2km)

S9H19H (B - ) J— mmm OF1E—KRCP—=HHEEECP JBRE—=MEIABCP —M#ABP—2R (121.0km)
(39.4km)  (18.4km) (31.9km) (21.9Kkm) (9.4km)

BODER IRIE
O =FTYIRA Y MREBRA Y NRUHERBRRA KIBFTVIRAVE \'O i
=EDERFE I/ TBERAERIELES) (39.9km)

—avE-T .., HEHEEE=10:45 |
r AVEZIVRALY HOiE) s A m(mE vy

FKDE \!‘ o EOR x&
135.2km g BERT YN —0 g T FIEEN

1HE3I—I-2HEBZS— b
BEHYUL YU

1HBEIEHIFRERE=18:30
2HBZ&— MEE=7:30

BLNBF 4 Sk F A

o BORTRE =
IR S @ SER 7 31 [37] ( %Hﬁﬁ R
S (kI3 AEEEEI) (60.3km)
SIS HERIRER=12:10
oY rFvIm

HEHIRRRA b o =25 Ny
(PR b > 2L EFTSED) (120.3km) @ L7 %Fﬁ - L

HESIRERI=17:15 \O O  geE @
L

FRERF

] g
B
~ %:Né% 82
5 T a2 ) [ @4 \O g
(PRI A BEERD (110.7km) SERNI AN | 7 DERZE

| = / e
HEFIRRSRE=16:30 = leAzEs Al @

W ) 5K EEET BRI Y

sorgen—oml Ot (TR O ARE) (96.1km)
@\ﬁ — S HIIRESR = 14:20
RgE7E PILTUKEES
== RKFTvIRA U

BRI —2 a1
RO HEFBRRA N ol o o GOKETIBE I (131.8km)
- @ (R - I (146.8Km) s HESIRESE=16:40

bl L e B HAEHIRER=17:15 DEUFKIER 161.1km(296.

@B J— T TFEWO \' e oS e

HEHIRESR=14:40 Dein S 2HEI—-L-3HEZY—
EORR it ' EB538L AN HEESENARI Y h\—/—EEiE

BrPIZUZIN—o R
2HBFEHIRRE=18:30
SHERSY— hERE=7:30

BEEFIvIRAV/NEER
PR (Wiﬁ%ﬁﬁéﬁ@’f_}) (79.6km)

:  HEHIREE=13:20

W s/ —+>2
FEY

TNz

BB
REBAE \ /

#s =1

EEFIvIRAVNSER /0

(OA Y ILRTILVEEE) (63.3km)
HEFIFRRE=13:15

si\—=2=1=A=—

HRER

PEEEF IV IR VNEBR
GEDR BIEDRLEHDE) (57.8km)
SHAEFIRESRI=12:45

KEFIvIRAL/E
(EETHTARS BNILIS) (39.4km)
HEBIRIS=10:45

mRERER @ tFFﬁ

R
wis CREESE]
BO—K/—2 B

EODER DETER B
25 9H14H(%) #9135.2km

EREKAEAA VI TR - atom = o e
GBKEEAEES1S) (32.3km) KSA T4 \erEpAzQ w0 =3 = e i
HHAEBIRESRI = 10:45 momL (KRR 200m! 71,7, x ”é’i i CR———
\U—le—ﬁ 100m ;lk 28 = F’CJ ;’ '\ z
iE ‘\ 7}<E|-ﬁ oml_—" "\ /\'\_/‘P\/\_M*m JMA ME wf’\,mM/ \2.,
,,_,‘7}<E] B On Do Do Gn So Go Do Bn Do O (On Do o e
s 5 158 (H) 1 | @&=
b\lam.ism»uh e ] o B
(7ZO 2B (89.7km) — Y ow e $ FE:
Hjﬁfﬂl‘ﬂﬂr*}ﬁaﬁ=14i45 — ,E “% - PE ZJE a ;ﬁé /l\é&;
b‘l&(ﬁi/ om g P o#® £ 3 | C ZRdh
100m{ HH ; = = ‘ |\ P okE
: 5 | \, 2*s
O e T L e
BEBE 10m 20km 30km 40km S0km 60km 70km 80km 30km 100km 110km 120km 130km 140km 150km 160km
P‘J‘%ﬁ*«_\ﬂ'\'f 7 == s — ‘ p——
TGS /(BT EEREEERIS) (111.6km) &8 L ud ‘ =]=]
=1=R el o RER | EHIRESE=16:10 S S0k
QRS e POiEtH] 5) 300m
3gEd- L 200m
i AF—hk PO bR RERRICLY, 100
e e = 00 5 P ARRENEELLHBED  _ome— ) A N S A
3EBHERRBE=16:30 TR / HIFET, % O Bm Bm M N O MmN D 00n 10n 12k

121.0km(417.3km) iR ‘



